| Efficiency vs Dxy |
.05
S S N N T N T T
]

Y e
) - : : : : : : : : :
B0

R e
0
oozt
ook

ok

LT T T T T T

.QJ-.l.Q:IIII.IIII.IIII.IIII.III. II.IIII.IIII.IIII.IIII
o

S

m l__ ...................................................................
0.95+++-beeseeienmmnedennndc o fen

0 E=50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_baseline

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit_BASELINE-2

nND.02
S

T I r YT TEYT)
W= 0

iy
————

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


